A.S.D Govt. Degree College for Women (A), Kakinada. Department of Zoology and Aquaculture Technology Time Table I, III, V SEMESTERS TIME TABLE (2024-2025)

					(= 3= · = 0= •)		1	
	1	2	3		4	5	6	
Day/Hour	10.00 AM to 11.00AM	11.00 AM to 12.00PM	12.00PM to 1.00 PM		2.00PM to 3.00 PM	3.00PM to 4.00 PM	4.00PM to 5.00 PM	
Monday	Zoo (6A) (MVL)/ Zoo (7B) (VVY)	Aqua 6A	Minor Zoo(MVL)/		Zoo (7A) (VVY)/ Zoo (6B) (SM)	Zoo (7A) (VVY) (T6)/ Zoo (6B) (T8)(SM)		
Wionday	Major (Course 6 Practicals) (SM)		Aqua (RVS)		Major C-5 (MVL)			
	Course-1 Zoo (SM)	Aqua-7A(RVS)	Zoo-7A(VVY) (Lab)/ 6B (SM)		Major (Course-5) (MVL)	Zoology T8-7B practicals		
Tuesday	Major(Course 5 Practical) (MVL/VVY)				, ,	Major (Course 6) SM		
	Zoo-6A (MVL) / Aqua-6A(RVS)		Zoo-6B(SM)			Zoo-6A(MV	L/RVS) (T5)	
Wednesday	Major (Course 7 Practicals) VVY/SM		Minor Zoo(MVL)/ Aqua (RVS)	L U N	Major (Course 5) (MVL)	Major (Course 6) (SM)		
Thursday	Aqua-7A(RVS) Zoo-7A(VVY)	Zoo-6A(MVL)/ Zoo-7B(VVY)	Minor Zoo(MVL)/ Aqua (RVS)	C H	Major (Course 7) VVY	Major (Course 8) SM		
Thursday	Major (Course 8 Practicals) (SM)			B R E	Zoo-6B (SM)	Zoology-6A(MVL) (T6)/ T 8-6A Aqua Practicals(RVS)		
Friday	Course-2 (MVL) Zoo-7A (VVY) Aqua-6A(RVS)		Zoo-7B (VVY)	A K	Aqua-7A(RVS)	Major (Course 8) SM		
	Major (Course 6) SM	Minor Zoo(MVL)/ Aqua (RVS) practicals			Major (Course 7)	Aqua-7A (T8) (RVS)		
Saturday	Course-1 Zoo (SM)	Zoo-6A(MVL)	Major (Course 8)					
	Aqua-6A(RVS)	/Zoo-7B(VVY)			Aqua-7A(RVS)	Zoo-7A (T5)(VVY/ SM)		
	Major Course-7 (VVY)		SM			Z00-/A (15)(v v 1/ SM)	

ASD Govt Degree College for Women (A), Kakinada.

Department of Zoology and Aquaculture Technology Time Table I, III & V SEMESTERS TIME TABLE (2024-2025)

Name: M. Vasantha lakshmi, Lecturer in Zoology

	1	2	3		4	5	6
Day/Hour	10.00 AM to	11.00 AM to					
	11.00AM	12.00PM	12.00PM to 1.00 PM	L	2.00PM to 3.00 PM	3.00PM to 4.00 PM	4.00PM to 5.00 PM
Monday			Minor (Zoo)	U	Major (Zoo C5)		
,	Zoo-6A			N			
Tuesday	Tuesday Major Practical (Zoo C5)			C	Major (Zoo C5)		
	Zoo-6A		Minor (Zoo)	H			
Wednesday	200-0A		Willion (200)	В	Major (Zoo C5)	Zoo-6A Practical (T5)	
Thursday			Minor (Zoo)			Zoo-6A Practical (T6)	
Indisday		Zoo-6A				200 0711	actical (10)
Friday				E			
,	Course-II	Minor Practical		A			
Saturday		Zoo-6A		K			

ASD Govt Degree College for Women (A), Kakinada. Department of Zoology and Aquaculture Technology Time Table I, III, V SEMESTERS TIME TABLE (2024-2025)

Name: S. Madhavi, Lecturer in Zoology

	1	2	3		4	5	6
Day/Hour	10.00 AM to 11.00AM	11.00 AM to 12.00PM	12.00PM to 1.00 PM		2.00PM to 3.00 PM	3.00PM to 4.00 PM	4.00PM to 5.00 PM
Monday	Major (Course 6 Practicals)				Zoo (6B)	Zoo (6B) (T8) Practicals	
Tuesday	Course-1 Zoo		Zoo- 6B			Major (Course 6)	
Wednesday	Major (Course 7 Practicals) VVY/SM		Zoo-6B	L U N C H		Major (Course 6)	
Thursday	Major (Course 8 Practicals) (SM)			B R E A	Zoo-6B (SM)	Major (Course 8)	
Friday	Major (Course 6) SM					Major (Course 8) SM	
Saturday	Course-1 Zoo (SM)		Major (Course 8) SM			Zoo-7A (T5)(VVY/ SM)	

ASD Govt Degree College for Women (A), Kakinada. Department of Zoology and Aquaculture Technology Time Table III, V SEMESTERS TIME TABLE (2024-2025)

Name: V. Vibhavari yellari Total Hours: 19

Name: V. Vibnavari yenari					Total Hours: 19				
	1	2	3		4	5	6		
Day/Hour	10.00 AM to 11.00AM	11.00 AM to 12.00PM	12.00PM to 1.00 PM		2.00PM to 3.00 PM	3.00PM to 4.00 PM	4.00PM to 5.00 PM		
Monday	Zoo-7B				Zoo-7A	Zoo-7A Practicals (Te	5)		
Tuesday			Zoo-7A	L		Zoology T8-	7B practicals		
Wednesday	Major (Course 7 Practicals)		U N C H						
Thursday	Zoo-7A	Zoo-7B		R E A K	Major (Course7)				
Friday	Zoo-7A		Zoo-7B		Major (Course7)				
Saturday	Major (Course7)	Zoo-7B				Zoo-7A (T	5) Practicals		

ASD Govt Degree College for Women (A), Kakinada. Department of Zoology and Aquaculture Technology Time Table III, V SEMESTERS TIME TABLE (2024-2025)

Name: R. Venkata Sandhya

	1	2	3		4	5	6
Day/Hour	10.00 AM to 11.00AM	11.00 AM to 12.00PM	12.00PM to 1.00 PM		2.00PM to 3.00 PM	3.00PM to 4.00 PM	4.00PM to 5.00 PM
Monday		Aqua-6A	Minor T				
Tuesday		Aqua-7A		L			
Wednesday	Aqua-6A		Minor T	U N C H		Zoo-6A pra	actical (T5)
Thursday	Aqua-7A		Minor T	B R E A K		T 8-6A Aqı	ua Practicals
Friday	Aqua-6A	Minor Practicals			Aqua-7A	T 8-7A Aqı	ıa Practicals
Saturday	Aqua-6A				Aqua-7A		